LLUKO/IbHOE MEHIO

Ha 08 centabpa 20251
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3astpak  5-11 Knacc( IbTOTHbLIN)
Macno cAMBOYHOE NOPLMOHHO 10 66 0,1 7,3 0,1
MaKkapoHHble U3ae/ua OTBapHbIe C Cbipom 180 301 12,2 14,32 30,7
®pyKT cBexun ABNOKO 1wr, 71 0,6 0,6 14,7
Kakao ¢ MO/IOKOM 200 128 3.9 3.1 21,1
baToH 25 60 1,75 0,75 11,75
CTOMMOCTb paumoHa 96,63 692 18,55 26,07 78,35
0O6ep 5-11 knacc( AbroTHbIN/NNATHBIN)
ByNbOH C KYPUHBIM PUNE,TPEHKAMMU ,3e/1eHbI0 (14 9.3 9.4 13.5
25/15/250
KoTtnera ®PupmeHHas 90 174 12 5,5 12,9
Kalwa rpe4yHeBan paccbinyaras 180 360 11,2 8,8 44
Yait C caxapom,IMMOHOM 200/8 29 0,3 0,1 6.8
Xneb paHoit/6aToH 25/25 110 3,5 1 22
CroMmocTb pauuoHa 115,96 787 36,3 24,8 99,2
Byxrantep Y / i [npektop
paveea W.E. bopaKoBa
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